o-'\ A.u.S. SPIELGERATE GMBH

/ lru;}) SCHEYDGASSE 48, AT 1210 WIEN
JFHEZ @ wa3(0)1271 850065 FAX+43(0) 1271660075

@W_:"/ - Bwww.aus.at []verkauf@aus.at

ITEM NO:7190000027
/7190000028


weichselberger
AuS Printmedien Aufkleber DW 65 Hintergrund weiß


D) s
(:/ﬂ,w;« Bomsmiast. Dveragasnnt
A B C D
Side rall End rail Side apron End apron A
2 pieces 2 pieces 2 pieces 1 piece
E F G H
End apron B Leg End cross beam Mid cross beam
1 piece 2 pieces 2 pieces 2 pieces
I J K L
= ey
K \ B
= " =
Ny
Main beam Ball storage panel A | Ball storage panel B | Ball storage panel C
2 pieces 2 pieces 1 piece 1 piece



weichselberger
AuS Printmedien Aufkleber DW 65 Hintergrund weiß


A.u.S. SPIELGERATE GMBH

SCHEYDGASSE 48, AT 1210 WIEN
Q,+43 (0) 127166 00 65 FAX +43 (0) 1 271 66 0075
@www.aus.at [ verkauf@aus.at

#1 #2 #3 #4
e . (0 ()
@10X130mm bolt J10X4-1/2" bolt @10X25mm washer @10 nut
4 pieces 8 pieces 32 pieces 16 pieces
#5 #6 #7 #8
(e Dt %m\x @
@10X180mm bolt F4X1-1/4" screw #12X2-1/2" screw 1/4" nut
4 pieces 4 pieces 12 pieces 4 pieces
#9 #10 #11 #12
(0, ' -
N/
1/4"X32mm washer End rail corner T4X1/2" screw Locker
4 pieces 4 pieces 24 pieces 4 pieces
#13 #14 #16

Apron corner

(=

5/16"X1-3/4" bolt

O

5/16"X35mm washer

Q;Djﬁ)

1/4"X1-3/4" bolt

4 pieces 30 pieces 18 pieces 8 pieces
#17 #18 #19 #20
1/4"X19mm washer Nail basket 1/2"X5-1/2" bolt
8 pieces 26 pieces 6 pieces 4 pieces
#21 #22 #23
13X28mm washer | 5/16"X19mm washer Leg leveler
4 pieces 12 pieces 4 pieces



weichselberger
AuS Printmedien Aufkleber DW 65 Hintergrund weiß


A.u.S. SPIELGERATE GMBH

.
4 l,,,B'J SCHEYDGASSE 48, AT 1210 WIEN
—— R,+43(0)1271 660065 FAX +43(0) 1 271 660075
AL U

@’ @www.aus.at [ verkauf@aus.at



weichselberger
AuS Printmedien Aufkleber DW 65 Hintergrund weiß


A.u.S. SPIELGERATE GMBH

SCHEYDGASSE 48, AT 1210 WIEN
Qu+43 (0) 1271 65,0065 FAX +43(0) 1 2716600 75
@www.aus.at [ verkauf@aus.at

-END-


weichselberger
AuS Printmedien Aufkleber DW 65 Hintergrund weiß




